
Printer/Scanner Unit Type 2045 
(B548) 

 



 

 
 

 

  1.PRINTER SCANNER UNIT (B548) .....................   2 

 PARTS INDEX ...........................................................5 

Printer/Scanner Unit Type 2045 (B548) 
 

PARTS CATALOG 
 

This catalog gives the numbers and names of parts on this machine. 

 

 

March ,30 ' 2003 



2 

 

 

1.PRINTER SCANNER UNIT (B548) 

 



3 

 1 B548 6359  Keytop:Scanner:NA 1 

 1 B548 6369  Keytop:Scanner:EU 1 

 2 B548 6358  Keytop:Printer:NA 1 

 2 B548 6368  Keytop:Printer:EU 1 

 3 B080 4492  Cover:Surface Of Paper Sensor 1 

 4 B080 4493  Bracket:Surface Of Paper Sensor 1 

 5 B007 4497  Bracket:Plate:Feeler 1 

 6 AW02 0056  Photointerruptor - EE-SX4235A-P1 1 

 7 A235 4496  Sensor Actuator 1 

 8 A235 5410  Relay Sensor Harness 1 

 9 B053 5166  Network Interface Board 1 

 10 B548 8617  Operation Instructions:Printer/Scanner 1 

 11 B548 5117  PCB:DIMM:PRT/SCN:EXP:ASS'Y 1 

 12 B051 5885  Nib Bracket 1 

 13 A855 5200  Ferrite Core 1 

 14 AW01 0048  Photosensor - GP2A28N1 1 

 

 

 

 101 0450 3008B Tapping Screw - M3x8  

 102 0452 3008Z Bind Tapping Screw - M3x8  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Description 
Q’ty Per 
Assembly 

Part No. 
Index
No.

Description 
Q’ty Per
Assembly

Part No. 
Index 
No. 

1.PRINTER SCANNER UNIT (B548) 

O'Brien
Item 14
PCIL: March 2009
PCIL: April 2009



 

 

 

Parts Index 



6 

B548 5117  PCB:DIMM:PRT/SCN:EXP:ASS'Y   3 -  11 

B548 6358  Keytop:Printer:NA   3 -   2 

B548 6359  Keytop:Scanner:NA   3 -   1 

B548 6368  Keytop:Printer:EU   3 -   2 

B548 6369  Keytop:Scanner:EU   3 -   1 

B548 8617  Operation Instructions:Printer/Scanner   3 -  10 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

A235 4496  Sensor Actuator   3 -   7 

A235 5410  Relay Sensor Harness   3 -   8 

A855 5200  Ferrite Core   3 -  13 

B007 4497  Bracket:Plate:Feeler   3 -   5 

B051 5885  Nib Bracket   3 -  12 

B053 5166  Network Interface Board   3 -   9 

B080 4492  Cover:Surface Of Paper Sensor   3 -   3 

B080 4493  Bracket:Surface Of Paper Sensor   3 -   4 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Parts Index 

Description 
Page and 
Index No. 

Part No. Description 
Page and 
Index No.

Part No. 



7 

AW01 0048  Photosensor - GP2A28N1   3 -  14 

AW02 0056  Photointerruptor - EE-SX4235A-P1   3 -   6 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

0450 3008B Tapping Screw - M3x8   3 -101 

0452 3008Z Bind Tapping Screw - M3x8   3 -102 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Description 
Page and 
Index No. 

Part No. Description 
Page and 
Index No.

Part No. 


	1.PRINTER SCANNER UNIT (B548) 
	Parts Index 

